
+

       𝑣௙
ଶ = 𝑣௜

ଶ + 2𝑎𝑑

       0ଶ = 10ଶ + 2(−9.8)𝑑
         0 = 100 − 19.6𝑑
19.6𝑑 = 100
         𝑑 = 5.1𝑚

𝑣௜ = 10

       ∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

−10.1 = 0 × 𝑡 +
1

2
⎯⎯(−9.8)𝑡ଶ

−10.1 = −4.9𝑡ଶ

   2.06 = 𝑡ଶ

          𝑡 = 1.44𝑠

∆𝑑 = 𝑑௙ − 𝑑௜

∆𝑑 = 0 − 10.1
∆𝑑 = −10.1𝑚

𝑑 = 5 + 5.1
𝑑 = 10.1𝑚

   ∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

−5.1 = 0 × 𝑡 +
1

2
⎯⎯(−9.8)𝑡ଶ

−5.1 = −4.9𝑡ଶ

1.04 = 𝑡ଶ

       𝑡 = 1.02𝑠

∆𝑑 = 𝑑௙ − 𝑑௜

∆𝑑 = 0 − 5.1
∆𝑑 = −5.1𝑚

𝑡 = 1.02 + 1.44
𝑡 = 2.46𝑠

𝑀𝑎𝑥 𝐻𝑒𝑖𝑔ℎ𝑡 = 10.1𝑚

𝑇𝑖𝑚𝑒 𝑡𝑜 𝑀𝑎𝑥 𝐻𝑒𝑖𝑔ℎ𝑡 = 1.02𝑠

𝑇𝑖𝑚𝑒 𝑡𝑜 𝐹𝑎𝑙𝑙 = 1.44𝑠

𝑇𝑜𝑡𝑎𝑙 𝑇𝑖𝑚𝑒 = 2.46𝑠

𝑣௙ = 0

Add original 
height to rise

𝑔 = −9.8
𝑚

𝑠ଶ⎯⎯

ℎ

𝑡

(1.02, 10.1)

(2.46, 0)(0,5)

ℎ 𝑣𝑠 𝑡

5m

𝑑 = ? = 10.1𝑚

𝑣௜ = 0

10.1m

𝑣௙
ଶ = 𝑣௜

ଶ + 2𝑎𝑑

  0 = 𝑣௜
ଶ + 2𝑎𝑑

  𝑑 =
−𝑣௜

ଶ

2𝑑
⎯⎯⎯⎯

  𝑑 =
−10௜

ଶ

2𝑑
⎯⎯⎯⎯⎯

  𝑑 = 5.1𝑚

Up/Down

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

   𝑡 = ඨ
2𝑑

𝑎
⎯⎯⎯

⎯⎯⎯
 

   𝑡 = ඨ
2(10.1)

−9.8
⎯⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯
 

   𝑡 = 1.44𝑠

Up

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

   𝑡 = ඨ
2𝑑

𝑎
⎯⎯⎯

⎯⎯⎯
 

   𝑡 = ඨ
2(5.1)

−9.8
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯
 

   𝑡 = 1.02𝑠

5.1m

5.1m𝑑 = ? = 5.1𝑚

Down

𝑣௜ = 0
𝑚

𝑠
⎯⎯

    ∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

   −5 = 10𝑡 +
1

2
⎯⎯(−9.8)𝑡ଶ

       0 = −4.9𝑡ଶ + 10𝑡 + 5.0

𝑡 = −𝑣𝑒 𝑡 = 2.46𝑠

Quadform

∆𝑑 = 𝑑௙ − 𝑑௜

∆𝑑 = 0 − 5.1
∆𝑑 = −5.1𝑚

𝑣௙ = 0
𝑣௙ = 𝑣௜ + 𝑎𝑡

  0 = 10 + (−9.8)𝑡
  𝑡 = 1.02𝑠

∆𝑑 = 𝑣௜𝑡 +
1

2
⎯⎯𝑎𝑡ଶ

∆𝑑 = (10)(1.02) +
1

2
⎯⎯(−9.8)(1.02)ଶ

∆𝑑 = 5.1𝑚

𝑇𝑜𝑡𝑎𝑙 𝑇𝑖𝑚𝑒 = 2.46𝑠

OR
𝑣௙ = 𝑣௜ + 𝑎𝑡

   𝑡 =
−𝑣௜

𝑎
⎯⎯⎯

   𝑡 =
−10

−9.8
⎯⎯⎯⎯

   𝑡 = 1.02𝑠𝑇𝑖𝑚𝑒 𝑡𝑜 𝑀𝑎𝑥 𝐻𝑒𝑖𝑔ℎ𝑡 = 1.02𝑠

Up

…
Up/Down

ℎ = −4.9𝑡ଶ + 10𝑡 + 5

Add Times

P11 - 2.5 - Ball Throw Up from Building Notes
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